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3 -3t
UTs-1 Adtad fAfumr @ Ire w3 H3<
(1 399 T8 yHS)
yrs 1 Adted fifinr fam 39t €t 3t sratet 97
UHS 2 U3 AEE 3 &t g2 J7
UHs 3 &< gar g fan 3gt € fusmat &t 83 97

UAS 4 B=iSt et © niile feg Adtea ffunt @€t fausT mae =afamr Aier 97

YA 5 HS gRaI< faudt 957
UYAS 6 Adlad fAfmr & fapnms faw gt yruz ger J97
yHs 7 &t a3t gt 9fa39 fesanre I AaeT 97
s 8 &<t Feted fifumr fam Sgt ot It wrdtet 97
YAE 9 Adlad fAfumr @ vy €em at 97
UHS 10 U3 3 A & YUz Jer 97
UAS 11 €3¢l 19 € 3at et faggtnt fafenr=t 3798w g7
IJ&7?

(2 599 T8 YHS)
yHs 1 ot Aated fAfur fefemm e nifsuget wiar 97
yAs 2 frusret 3 dt 9= 97
UHE 3 Adled fAfimm &7 Wy Hae &t 97
UHS 4 WG Ul Adte few 3aetait e &t ygre J7
YRS 5 Adted fAfun € vy §en faus 957
UAS 6 Aded fAfmm Wy 38t fa= Gudstt 37
YAE 7 &t Adled fAfunr feq 991 sa1fda s feg Hew Jaet J1
YA 8 Adted fHfuedT BT Ho'3=Yas e fagsT 97

(1]



(3 399 T8 YHS)

yAs:1 fermadt w3 e € fea™ &€t Adted fAfwr e ot Gaers 97
UHE:2 ¥3T It fed 99 qu3sTs g AaeT 7 fae?

UHS:3 U3 € He's feg gt Adted fafu € ot §e ofAs a9 Aae 37
UHa: 4ndtad fAfun e farrst fenast w€t ot 3% yers a9 Aaer 97
UAS: ST 99 € Hed fea™ Jaeiit g5, fas?

UHS: 68¢ 8 font &t b3 fafemret faaghnt g7

yrs: 793t feq 991 e & fAgasT fa=” gaetnt 97

(5 399 T& YAS)

yAs 1 &t 3t Wae I fa Adtea T Aeg-ut feam gaet 97 fas- fenas &7 fgu?
A 2 Adted fifimr fefen e fea smant et T, femmfnr g97?

YHE 3 Fated fAftT € vy GO0 w3 fige & 97 fergg-ya=q fau?

Ui 4 feg® An &t Gar 93" fam 3g7 1St A7 At 97 ARy J9d f&d |

YAS 5 Adled At fefem e nifs ug=hiar 97

YRS 6 U3 9dT B39 s g T Ia? fa=?

yAs 7 TSt € uF Hets feg wrd meted fafunr € I feu Gent €t yrust 3t 97 fa=?
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mrg - &<t
Us-2 43T IS 3 AUdeAN ST

(1 399 % YAS)

YHS 1 43 7913 feu faua € neet § 993t gw=t few mueT fgmr fapur 37
yrs 2 Au3 fafemret =@t ust fagdtt fagatnt a57?

UHS 3 43 € He's feg faust ges fustat & ga3T &t 53t feu §§ gyt 97
YRS 4 gfont B8t fan fam &t 43t Agmet gehit 9s7?

UHS 5 93 & gut @ feam fag ger 37

UG 6 Mo H Et geadl feget fauahnt gs?

yAs 7 A<t B8 fad fadhat fafenret @t a3t Aomel et 97
UAs 8 fed 3ugn3 femast fan 3§t e diles 9313 do9er 97

yns 9 w3 faferret @@t ust fauahnt fagdtt o7

UHS 10 feq 99 AUdeAns fag er g3 Hiemr Afer 37

yrs 11 fea fenat 2 feradise feu =ur faua-faos aret a9 ger 37

s 12 faust gesT fea fustdt § Ae-AEdt 43 use ©f Yo feet 97

yHs 13 §n fusmat & faw a1 &% Aafenr Aier I, 7 99 fA3 § ms Ho' 33T feer 97
UHS 14 fed 99 AlUgeRHs d< ger 97

yrs 15 fauat grear 3 4fez I o fusdt g9 § fA3 feg gese &t #w-33 dfaw ga9e

IJ&?

(2 399 T8 YHS)
yAs 1 83t € feam &t ot e reet feg fau?
s 2 fe@ua AorfesT 3 Arg ot Yaer fizet 37
yrs 3 U3t faf ushut Aehr g7
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YRS 4 43t & fan {7 &9 €7 AUy <95 dd7

UHE 5 AUderHstay fan § afde g&7

UHS 6 AUdeHsY feg faus faoa gie 9 odie g7 a&t 7 g feyu|
yHs 7 fea Algenis a5 B8t ganat feg faus-faos gre 9 odie gs?
UHS 8 43T HaTe® w3 Afgar et gresT=t § fas €3nas aoett 987
YRS 9 UF AYUt @Y-TY fegraurgret € iy Areardt fe6?

(3 399 TB YHS)

yrs:1 fea 99 Algenis gffm 57 fag fagr feegre goer 97 fuy feo feb?
yHa:2 79 fAg § 99vag A & g=aT fag fadt get 37

yHa:3 M3 femem w3 fes fege &t g fea fuzmdt & faw 39t & s @<t 97
UHS: 4gaH €€ M3 Ha< € aragt3 feq fugmat fee faw 3gt mrEet 97

YRS SHd 3% o yIfs3 det en ust & &t fay?

UAS: 63T g9des © MgA'd fed 9ait uF e of mag 97 ?

UHs: 739 w3 fusTdt € 991 AeT w3t § fae yefss aoe us7?

(5 399 TH YHS)

YRS 1 43t € giet 979 femgrg-ya=a fay?
UAS 2 U3 UIT 5% W ¥ feg fagz-fags gre e g as7?
UHS 3 AUSHNGTAY ot 97 fed 99T Aldenis € Jie fed?

UHS 4 U3t @83 AN e §fe3 Qutiar 95?7 mrue fegg ER7?

RS 5 dt fed fugat 99 smarfad o< AaeT J7 fa=? gIet €7 <9<s da?
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™I - &<t

UTS- 3 SHIB T AT BT §F WarsT 3 93T yg'e
(1 399 T8 YHS)

UHE 1 SHS M @agmt & 293 fa§ a1t A<t agt 97

UHS 2 SHIB M @agmt € 293 &8 fustdt fag faor sarer 97

YHE 3 3979 & 93 &% fagz-fagz 391 Aie 987

UHS 4 SHIBMT AT 93¢ T96 Ufon™ € 9 ada ©f ra3t fag weet 97

yAs 5 3979 € §F feg faus uegg e 97

UHS 6 We IS a1as fustdt & mersa W3 fa§* § Afet 97

yns 7 39y €t 293 7S fewrar 3 ot yIre wget §7

uis 8 foa fuzmet et ot et 97

YRS 9 SHIBT @3 &t 293 d9& 78 fuzTdt € 3TuHTs W fena 3t € 3uns 3
fasT we ger 97

UAS 10 a1 feg 3o Sfenr fuzrat fam 39t migse gaer I7

YA 11 J€t 979 sHISHT TA3T € S™H T A7

yras 12 e fuzat set &t Agdt 97

UHS 13 SHIBHT A3 €t 993 7% &3 AN el AdlT 3 faaT o fgmm A7 Ager 37

YHES 14 frodmer sHigt @gut € y&dr a79& fuztdt € Adla 3 df »ing Ifen?

UHS 15 He Y J€° 3 SHIB T @Agmt &t @93 daer m faar 97

(2 399 TH YHS)

UHS 1 SHIBMT @A3T €t 293 578 Ha U & faost fauat 39t € Jar sar Afe 9&7?
yns 2 faadt vig sHlatit @ngat €t 293° & Ha ot Adte § avwg a9 fegr w3 fAe =+
fusTat 9ait 4z € feureT g9 € mEar afg fapur 92
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UHS 3 J9it U Bet fustdt feu faus faus gre I grdie gs7?

UHS 4 &H I3 fusTdt use A feg fadt a3t gaer 3, fAam € fAc =7 EFest G @
T79 T 9 ey UeT 37

YRS 5 &H I3 fustdt € W €T Ag%s fea Ag fag” sdt gem?

UHS 6 A9 §BfUT 45 €975 et fusTdt sHsT Sigmt €f =93 Jaer gfemT uafanr
FeT 3 3t OF § o meT fest miet 37

YRS 7 SHIBHT TRSAT St 9857

Ui 8 et fugrat s fag g9 957

yrs 9 a1 feg gfomr femat fas migee gaer 37

UAS 10 it a6 urgs fafenr 3 &t ygre Uer 97

UHS 11 3979 €1 293 € df IT81d9d Y= 957

UHS 12 SHIBMHT g a9s fustdt € 3vuns few fdat famree mrEet 97

UHS 13 dt SHBMT gt € Aes aas fugtdt &t Ao mast 3 ygre Uer 37

yAE 14 Sa ¥ Bt o Hgdt 37

UHS 15 &0 feg 43 39 fusmat & &t mer fest 7t 97

UHS 16 SHIBMHT THZAT € 293 dds 8T fugTdt mrue At fustdt i Afgag fas
AT BET 7

yHs 17 a0 feg a3 fusdt 43 feu 33t sa= fas v & 3T 37

UHS 18 &1 feg gTomm fustdt Aer &€t mruet v feu 9799 §a< BEt fae HAga I 7reT

J?

YRS 19 M U'E 57% d1 gaN's I I67
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(3 399 TB YHS)

UHG:1 SHIgHT fagnt fagdt Adled yea it €3 =0 ygre ugehf g7
UHE2 #H O WS sHiEt @Rt ot <93 fa aeet 37

UHE:3 SHIBMT TAgMT € =93 feq fuget 83 ot ygr= et 97

UHS: 450 g6 8T feniadt fae srygwg I Aer 97

yrs: 5fraee e it A8 Sefanr § fa= ygrfes J9er 97

UHS: 6HIY HE Y € HTaMd Agss & fae ygrfes gaet 97

UHS: 7 SHIBMT SAZMT € YidT 578 Uas fafenr 3 &t mne Uer 37

UHE:8 SHBMT @agnit ot 957 vid 293" Bt SHIgT @ngnrt fagdtt 957
UHE:9 47 f&9 979 sHstt Azt 994 fa< I Aaet 97

(5 399 TH YHS)

UHES 1 SHIBPHT @gnt dt 9857 fegt € €n <95 9397

YA 2 fugtdtt €t 43 3 sHIgHT SRzt € 93 ygTe ¥ AredTd! fened yaea feg?

UHs 3 399 UiT &5 fustat €t i3 3 fgs 3 ot miAg ger 37

UHs 4 HaTY &t 97 few er 831 7 9g3t fraeTe feu yeiar g9 3 fustat €t a3 3 ot ming
Uer 97

UHs 5 43 feg o9 gt =79 sHigT @AgH a9s < § Aaet 97 fae'? fermag &% fau?

UHES 6 SHIBPHT THZHT Ugs fafgnT 3 Age A3t 3 fa= »ing gaehit 957
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mrg - &<t
UTs-4 H €81 AgTfeaT

(1 399 T8 YAS)

UAS 1 Hest AgTfesT ot 97

UAG 2 $9ed € Ure 3 ufost 3ot 7 mudt fenast § et e =&t aofes § &t
Ffde g7

UHE 3 HES ATTES (First-Aider) § 3Taedt ATfeaT fige 39 ot aoe gfoer grater I7

UHS 4 391 & Saedt AYTTEST €€ Hald HE® AUTfed § df Ja&T grdter J°7

UHE 5 §9it € 9w d< 3 @R Ag 8T § A 3 &t J9aT Irdter 97

YRS 6 9S8 AT € €t € fedtit € &F €A

yns 7 fan I3t € g A< A 87 feg w99 U A & &t afde g&7

UG 8 HE®! AITe3T € HY Bem af 57

UYHS 9 Hdd Al 990 T A< M3 BW €AY §¥ J A< 3T ot ga&T grater 97

UHS 10 HEST ATTE3T & Y'Y #ar ot 97

UHs 11 & a8 saret 37

UHS 12 dF-Hd S € 9 Fa1 § fan 3g7 aeeT gdter 97

UAS 13 HY i faost-fagst gt 97

YA 14 WY fa »r@<t 97

YHE 15 73 Aad €7 g€t foAT As < 3t €1 & fan e &% G Af e gaa™ grdter 97

UHE 16 A9 AA19 €7 3¢t foAT g 575 Az A= 67 & fan §i7 &% e gdter 97

UYHG 17 I3t & ge § 39 af afde 987

UHE 18 Hdd Jet AfgdtsT siaT 391 Hd €< 3 fan e €t =93 a3t A7 Aaet 37

UHS 19 73 3t fena3t uret feg 39 four 9= 37 80 § a€ J &t gaaT grdter 37

YRS 20 Ha &t {35 famit fagdtmt-faagnt g7

A 21 Ufent gr I &t 97

A 22 faust He €9vs g9 »Afa § At 97

A 23 A3 8395 <t Afat fev faost uet ot it 97

UHS 24 93T € gee & 99 af afde 9&7?

UHS 25 990 fam § wmue 957

UHS 26 931 € Jet gt 3 ¢ 7 § d e 987

(8]



(2 399 T& YHS)

UAs 1 g9Ht 3t g7 J7 gt € f9s ot 957

UHs 2 HEst rorfesT &t get 97

yns 3 faggtt 135 arst fonrs feg gustt gdtemt ga7?
UAS 4 HY 3 at T2 97

yAs 5 HY fas yarg &t gt 97

YAS 6 #3 839&T (Dislocation) dt ge J7 few € &t a9 J7
yHE 7 T3t &t ¢ (Fracture) 3 ot 972 J7

UAS 8 ¢ ot famit € &t fay?

YRS 9 HE® AJfed € dd 3< e A7

YA 10 HE® AYTfedr © det UF g fay?

UHS 11 Hest AorfesT er 439 ot 97

UAS 12 A'J 38 © HY T796 S H?

UHS 13 3-BdIe € HY fas gn?

UAS 14 39T IS © fos gn?

YRS 15 I < € HO € J96 en? fesa 3 9 St env

UYHS 16 Ia1 usfent 7 3073 i & 981 €39 A=, 3¢ At ot J3417

UHE 17 g Tt fadatt famit 987 A9 3 ugds'a faast g2 37

(3 399 T8 yHS)
YHG:1 HY fai § MTue 967 HY M8 € Jds on?

yrs:2 u3 9 vest norfesT fae romet gt 97

UA:3 goHt faus-faox aeet aod 9 Adet 97

UHG: 413 839 © doe w3 fem fau?
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yns: 535 fafir wet fes fan fea € aae, se< w3 5978 & Gum fza?
() fare &t He (1) Fe &t e

YHE: 6 HTHUHDHT & I AT fygm & Agres’ ae et 37 fene s9€ € Quom w3
fez fotr?

UHS: 7493 © 439 feg v 39 3 faogtt mer sare & fgresT get 37

yns 8 fan 979 get &t fenfumr 337

(5 599 T8 YyHS)
UHS 1 HEst rgrfesT &t g€t 97 fen €t ird fa€° Agez J<t J7 fengg 7% €7
UHE 2 get Tt faatmt fami 987 A9 3 u3ds'd faast g2 37
YRS 3 I3 gee © dl Bee J&7 fen st gt ot fegw 4417
UHs 4 WY fan § afde gs? fen € B2t Hest rorfesT &t 9 Aaet 97
YRS 5 HTAUHMHT € 35™1 A fugm™ € &t a9s 9&7 fen € 9w, 99 € Qumn w3 fes™a
fea?
UHE 6 "aHt at 97 few € arast, fogt 3 fegma 79 &H7?

UHS 7 HE® AITIed © &4 3= € f[eHEd 57% SdSs J37

yis 8 fare €t He € faua-faus aes I g&7 feu He mr@s 3 At ot Higpw Jaer 97
fez €xe 3T feu &t €7 fa fen o753 feu fauaghr-fagant aret e fors
yeT grdter 97
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us-5 1947 fug’ Iamg feg ¥3t <t yarst

(1 399 T8 YHS)

yAs 1 Uag §3fua #inrens € rgrusT ae Jet?

yrs 2 Uarg @3 fua mirters e Het d Al?

yAs 3 UaAg @3 fua #inrtens e ufosT yors d< wt?

yns 4 Uarg @3 fua mirtens e ufusT Ag 39 d< Hi?

yHs 5 Urg feg grat »iartens ae I© feg mrel?

UAs 6 U feg o3tas »iArens g« I€ feg mret?

yrs 7 ferftas &+ € AarUsT a¢ St aret?

Ui 8 U7y feg ufgst 79 a7 U'T9 3 43 HI'e9® d¢ Ja<e JIe?

YAS 9 AUden fegmar € rErysT g< Jei?

YHS 10 UATY feg gnaT AUdeH W™ ae w3 fag Ifenr?
UHS 11 UA™d AddTd & Aatad fRfumr € few & ufost 3 e st A3 3 & fefenmaghnt
et et ferT g gerfenT 7f &g J13m?

yns 12 U fesiant feg ust e fea™ g9 B¢t UA™g Aadd & faadt Anar € AgrusT
St I Fe?

UAs 13 I g7dt 3 T3 MANEHS € Ufd® YU's W3 Ad 39 €7 & e 7

UHS 14 %A UTd 3 43T § Ualediet @8 7 fenr ae &rqr 13T fapur?

YRS 15 43t & feam et §Am9 Aadg @8’ fagaT fegrar marfuz iz fapdm?

A& 16 AUJSH A AS de g€ feg mret?

yrs 17 orfedt o+ U3 udtne &t AgrusT g Jei?
yrs 18 Umg §3fua »inriens a< 9w feg mret?
YRS 19 AUdeH fegmar & rgusT g« Jet Ai?

UAS 20 UA™Y nEsfed 3 §eu® MANITHS e J¢ feg mrel?
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(2 399 TH YHS)

yAs 1 Uag @3fua »inrtens €t rgrusT fam 3gt 3et?
UHS 2 ©F &1 27 d9s UATY €t 43t 3 &t ygre fumr?

YRS 3 43T € 439 feu frer deers uge 8 med faus 7a7?

yAs 4 Uary feg @3fug #inrtens garar J€ feg fa= »ret?

UHES 5 FASC A M€ AUJCH A% Ud M3 IT&H HUJSH € RETUST J< Je1?

UHS 6 1948 & Igmie Umry feg faught fagatnt vz winftens I feg mmehii?
feqt € = fau?

(3 399 T8 YHS)

yrs:1 Uamg @3 fua mAmens € &t aH 957

YH&:2 UA™E IH € Uai=diAedt € & €R?

UH&:3 43T € U39 U Goes UBe 8 wed faus-faus gs feast e fengrg q97
UAS: 443 € yarst €9 {A™g Ace AUden A% & ot HareTs utfemT?

yAs: 5Uae §3fua mArers e §t #t 3. Adt = &t Gees fagr?

yrs: 6 UgTest o a3 Une 3 fea &< fau?

YHS: 7 1947 3 e Uame fS9 Adlad fAfa AmgT=t Hg d96 ©F a1 HaAe Hi?

(5 399 T8 YHS)
Urs 1 1947 3 fug imry feg ust &t @ a3t g9 €R?
YRS 2 1948 Hald' Ure feg u3t € fea™m &2t 9d dIE JeH?
yAs 3 UAg §3fua mirtens & a3t € yarst 38t ot ger ga7?
UAS 4 JI6 fafant & 43 yarst feg e< 3 &< fau?

(1) IFmg 370 €t gateafAet (2) Ae Aee AUder A (3) U9fedt a7 us
yime (4) Uame 3 fua #iAnens (5) (A Ags Ay 8951
yns 5 UAe © 83 feam feg {amg Algen fegrar &t wm af 9, ot gt fen &% Afors

3? U9 AUder fegmar €t @< 3 uaT ug?
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™I -3t

Us-6 d'HSAl 43T
(1 399 T8 YAS)

yrs 1 9793t 3fua winriens a< 9e feg mret?

yHs 2 9793t G3fua winriens € ufad yurs d< Aw?

UAS 3 37931 3 fua »ianleRs € ufud Ad 39 d< AS?

UAS 4 37931 G3fua WiAniens € ufad AuTfed Ad 39 d< AG?

UHE 5 9793t @3 fua WinrieHs W39 ITHed MAHIEHS €t HEd g g7
Ui 6 9793 feg ufosT oot as ¥ ae 3 fag 3 feg mfenm?

YRS 7 UA™E 7t MAREHES € AETUST g 9Et?

UHS 8 39 AeHl qU (ITHed! ITalt YSIHar3T) d< H Jel?

UHS 9 JITd WaldiAet Harafent € gy few iary feg a< mret?

yrs 10 UA™e & dHss Sutsiiu feg ae gmar fomm?

UHS 11 37931 Il wiAHeHs a< 3 fag gt aret?

A 12 3793t §3fua mamens & ufad gHedt Hares a< Jaee?

UHS 13 mid gy feg ust Are @@t gt fagt at € Audd 578 3793 feg wret?
UHS 14 99€ €1 A=9s T U 97T It YSTHAST a5 Je1?

UAS 15 A& 1999 g feg J€t viar us Fu yStearsT few faust v s feo au fafamm
UHS 16 AI= 7931 &fag Miatra ySaar3T faw »rurg 3 aaret At 37
UHS 17 HI< 97931 5fdg Miata ySHar3T < Hg Jet?

UHS 18 A< 97931 &fdg Hiatia yStaar3T § rg 3 ufust fam & fafamm /e
UAS 19 €298 U3 € A6H d¢ M3 fag gfemm?

R 20 1888 €F: feg A9 3 ufosT gcus T faus™ HargsT gaefemT faprr?
UHE 21 A3W 237e! fan 43 Haes 57% AUz 37

YA 22 3N 2avel feg 993 & fauzT yi3 /g 3 frmmer Ag faor 97

UHS 23 3978 q U €7 UfasT &7 &t Hi?

UHS 24 MATS 3973 I U gaaHe fag gaerfenT aer g7

yrs 25 faae €t 43 g9 Areardt ae fust?

UH& 26 9793 fe9 AT 3 ufg®™ faae a& ¥ ae Aamfu3z Ji3 faprm?

yrs 27 9793 feu faae aug g 3 ufost fag rarfuz dfemm?

UHS 28 It 2ael fqde 43 varafent e iU d< gaer J7
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(2 399 TH YHS)

yrs 1 9793t 83fua winrens faagtmi-faagtt us mArtersT e fwr 37

yns 2 wiiofaa §3fua 43t g, fag »3 fan € u3s 7% 978 Jehii?

yAs 3 3793 feu E3fua mAners € fares e fAgar fan-faw € fAg g37?

UHS 4 9793t 3fua winriens €t 9< fas =font et gt 7 3 faus-faos Hag g

7 I&7
yAs 5 9793t §3fua winriens g geret aret? fan 2% ufgd aHedt Haed e da=e
Jre?

YA 6 IT6T YIHarsT feg ufgsT Ae's U3 d9s 78 &et Hiss fans fedt 3 feg
YSTaar3T fas fag se ga=ret Atet A?

YRS 7 IHedT It YSTEar3T € & Jar-Aent a U fa€* gt fapyr?

yHs 8 “ges qu” T feu &f fa€ fumm? Ag 3 ufost fen & fam & fafamm?

UHS 9 “Wmarm ¥Ts” g U 97T YSHar3T ae Hg J9e? feu ySiaesT fen &f 5% fag yfig
ger?

UHS 10 UAe fe9 “mmar urs g u” ySHar3T Ag 3 ufost fan & 3 a< fafamm

UHS 11 W UTs @Y YSTHar3T d< deereer J 3 feg yStaasT fan yug 3 gt
ArEt 97

UYHS 12 HEE! €7 ASd6 JU de 978 dien™? Ag 3 ufost feg yStaasT fans fast?

UHS 13 €28 &t faudti-faaahnt y3t tarsr=t gg=eett Afdt 987

UAS 14 H3W 2d7e! €T fan a9s feg &f fumm w3 feg yare® fan yua 3 ¢ 987

YRS 15 9793 fe9 WY a3 Harafent §3 &< fau?

YRS 16 <% € 7oK J¢ dfemm? feg 9793 feg ae Safyw Jet?

(3 399 TB YHS)

yHs:1 g9t @3 fua mrters € a9s 3 &< fau?
UAE:2 993t G3fua WAHteRs €t WY ot fiierdtnt g7
yrs:3 Idt 4 3 feq &< fau?
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YRS 49793 € 96 f&fum varafen feg fan fea 3 &< fau?
(®) FIY g9 Hisa &fag It yStdasT

(") FI¥ I3 gaT Bfdg Tt YStHarsT
s 5 ufgstnt nigfea @3fua ust fag getmr | few e fiage faw € fg 97
Uis: 69793 f9 YA T 43 Ha'9® dd="8< € df HaHAE HI?
yrs: 7 43T feq 991 me € figrsT fas aoehit 957

(5 399 TB YHS)

yHs 1 97931 83U MAnens 979 fergg-ya=a fad?
YRS 2 9793 fe9 vy us Haafent feg fan 35 3 < fau?
gt
(i) 39 A=Y TV (TTHeST Tt YSTHI=3T)
(i) §¢& TU IBI 3T
(iii) T3 UTs T U gEET

(iv) 9T €7 A=dS qU

(v) A< a3t MEtHT &fag avat yStaara

(vi) A= 97931 gatd &fdg It ySTaarsT
YA 3 9793 © YU 43 Haafent fed fan € 3 &< faa?
UYHS 4 99 A=t JU & femarg ya=a femfimr 537

(15]



™I 3t
frog w3 wataa fAfumr
AUS UUgd

IS WA 40

(I €
UHS 1. Adtad fAfan g vy < ot 37
UAS 2. &< Wl f&9 fag fag fustt €t 83 97
YRS 3. Ha ¥ it geand! fegret fauadtmt g7
YA 4. 99" AUdeANS far & e 987
YRS 5. 399 € 293 378 fauz faus 3ar g€ 9&7
UHES 6. It 979 SHIBT @ngwt € & gy
UHS 7. Hest AofesT 3 &t g2 J7
UAS 8. Ufent g 3571 3 df U359 I7
yrs 9. Ay 3 fua »iavlens €t Het de At?
UAS 10. 2t & aet fedq famy 79 fau| (10x1-10)

(ITar -M)
UAS 11. Adted fAfmm Hay 38t fa= Gudiaht 97
YRS 12. 43T € J€t 4 579 fay|
YA 13. &fedt g7 ygs fafenr 3 &t ygre Jer 37

YRS 14. Ag ©T @396 T at = J fem @ aas fadl (2x4-8)

(16]



(37I1-¥)
UAS 15. 43T grdt fe'd gar quzts Uer ger 71 fa=e
YAs 16. g9 w3 fuztat € 991 iy w3t § fae yefes gov g7
UHS 17. 31 J96 @87 femadt fag syea § Aer 37

YRS 18. 2 ef &t famit &t e &g (3x4=12)

(3Tar-H)
Urs 19. fead my &t Gar 293 fae it A7 Aa<t 97
H
dar A=t Ju & ferara ya=a fermfum 331
UHS 20. SHIBMT @Rgnt ot 967 fest € 1 s dd|
ey

He® Adfea feg fagz-fags g g gdie 957 (5x2-10)

(17]



g <t
frgs W3 wdtea fAfwnr
AUS Uud
IS HI 40

-~

&¢:- H'd YHS HJdl TS|
(3 ©)

A 1. Adtad fafanr faw 3gt < 9t st 97

UHES 2 HBIHSI< faagint 957

YHE 3.9 AUdeAN® fad & aAgs Hient Amer 92

UAS 4. gfont et fan fams &bt a3t Aroret Jet 9&7?

yns 5.50 feg gfent fuzrat fan 39t e migge gaer 7

UHS 6.399 €t 293 A3 Hat9 €3 &t ygre gt 97

UH® 7 SHE e €t =93 fag oSt miet 37

yns 8 HY fag »rget 97

YHS 9. 930t fan & afde 951

RS 10. Ay Q3 fua WiAHeHs € FETUsT g Jet? (10x1-10)

(mar -m)

UAS 11. at watad fAfemr fefemt e mifsyget wiar 37

UHS 12. g3t fag . Agdt 957
UyHs 13. SHIBTHT THZAT & T57?
YRS 14. AJ 3&S € HY T'd& S H? (2x4=8)

[18]



(FTar-¥)
YRS 15. 3T 99 € HaHa fea™m gaetit 95, fa=?
UHS 16. 9 fA3 & gaag mHee & g=&t fag fagt g€t 97

UHS 17. »H € WSt gt Fiat &t <93 fag gaet 97

YA 18. gon! faoz-fagx aaeT o J<t 37 (3x4=12)

(3Tar-H)
YA 19. Adtea fAfm & Wy €€w 3 3= ot 7, fergrays=a fau?
H
a3t §Bfua »irters g9 feraraysea fd|
UHS 20. USt 43T 5% W ¥ fE9 faus-fags are Uer ge 057
Hr
HEs! Aorfe3T &t get J7 fen &t mg a8 #ges J<t J, fengg &% en?

(5x2=10)

(19]



